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What kind of events could we describe?
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Interpreting Probability: Relative Frequency
Someone who wanted to determine the probability of getting a head on the 
toss of a coin could toss a coin a large number of times and observe the 
number of times that a head appeared. 

The probability could be computed as the number of times a head was 
observed divided by the number of times the coin was flipped. 

This is the relative frequency interpretation of probability.

Oct 27­10:03 AM
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Let's flip a coin 4242 times and observe the relative frequency of a 
head during those tosses. 

Oct 27­10:06 AM
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Will the Observed Relative Frequency Ever Reach 0.5?
No mathematical or physical law requires the observed relative 
frequency to ever reach some predetermined level. But if the 
probability of observing a head was really 0.5 the observed relative 
frequency should closely approach this value after a large number of 
flips.
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The relative frequency of a head seems to converge to the expected 
relative frequency of 0.5. This kind of convergence is sometimes called 
statistical regularity. Although the outcomes of the experiment may vary, 
in the long run the relative frequency of an outcome tends to some value, 
its probability. 

Oct 27­10:14 AM

Problems with the Relative Frequency Idea
• The problem with the relative frequency approach to defining probability is 
that probability only exists for events that can be repeated under the same 
conditions. 
> Coin, dice, and card experiments can easily be repeated. 

• However, because of the strict requirements of identical and repeatable 
experiments, many events in which it would be desirable to have relative 
frequency probabilities do not satisfy the requirement of repetition. 
> the next launch of the rocket will be successful,
> whether you will make an A in your statistics course 

– are examples of experiments that are not repeatable under the exact 
same conditions. 

– they are not appropriate for the application of the relative frequency 
idea. 

• This perspective greatly limits the application of the relative frequency 
interpretation of probability. Despite its limitations, the relative frequency 
approach is a widely held interpretation of probability.
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Suppose we perform an experiment drawing three numbers, without replacement, 
from an urn containing 6464 numbers. Have we met the conditions of a random 
experiment?

Solution
No! This does not meet the conditions of a random experiment because it cannot 
be repeated under the same conditions. That is, as each number is selected, it is 
not returned to the urn prior to the subsequent selection, thus decreasing the 
amount of numbers remaining in the urn. For this reason, the experiment is 
different for each number drawn, and cannot be considered a random experiment.

Oct 27­10:20 AM

Interpreting Probability: Subjective Approach
• The subjective viewpoint regards the probability of an event as a measure of 

the degree of belief that the event has occurred or will occur. 
> Someone's degree of belief in some event will depend on his or her life 

experiences. 
> Different life experiences produce different degrees of belief. Hence, the 

subjective approach must allow for differences in the degree of belief 
among reasonable people examining the same evidence. 

• One of the significant advantages of this view is the ability to discuss the 
probability of events that cannot be repeated. 
> Thus, a subjectivist would be willing to assign the probability of making 

an A in your statistics course. 
• Someone who adopts the subjective view could use the frequency 

interpretation to influence the determination of a subjective probability. 
> For example, suppose that a coin had been tossed 20,000 times and had 

come up heads 63%of the time. It would certainly be reasonable for a 
subjectivist to use this information in the formulation of a statement of 
probability about the outcome of the next toss.
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Criticism of the Subjective View
If science is defined as finding out what is probably true, there 
should be a probability criterion on which all reasonable 
persons could agree. But if probability is subjective, how can it 
be used as a universally accepted criterion? Two reasonable 
persons might examine the same data and reach different 
conclusions about their degree of belief about some proposition.

Oct 27­10:29 AM

Interpreting Probability: Classical Approach
Classical probability can be measured as a simple proportion: the number 
of outcomes that compose the event divided by the number of outcomes in 
the sample space, when it can be assumed that all of the outcomes are 
equally likely.
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In experiment number 22, a coin was tossed three times and the number of 
heads was observed. The sample space consists of 8 outcomes {TTT, 
TTH, THT, THH, HTT, HTH, HHT, HHH}. Let A be the event of getting 
at least one head. What is P(A)?

Solution
Since the event A consists of 7 outcomes, {TTH, THT, THH, HTT, HTH, 
HHT, HHH}, and there are 88 equally likely outcomes in the sample 
space,

P(A)=7/8=0.875.

Oct 27­8:26 PM

In experiment number 4, let A be the event of drawing a heart. What is P(A)?

Solution

Since there are 13 outcomes in A (i.e., 13 hearts in a deck of cards) and 52 outcomes in 
the sample space (i.e., 52 cards in the deck) the probability of event A is as follows.

P(A)= 13/52 = 1/4 = 0.25

Experiment Number 4: Assume we have a deck of playing cards 
consisting of 13 hearts, 13 clubs, 13 spades, and 13 diamonds. Draw a 
card from a well­shuffled deck and observe the suit of the card. Have we 
met the three conditions of a random experiment? 
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If the sample space is composed of equally likely outcomes, then once the set of 
outcomes is determined, computing a probability is simply a matter of counting 
the members in each set and dividing by the total number of outcomes.
It is very important to remember that the classical approach rests on the 
assumption of equally likely outcomes. If the assumption is not reasonable, some 
other method of determining the probability must be used.

Oct 27­8:34 PM
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